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Math 16A
Kouba
Worksheet 5
1. Differentiate. Do not simplify answers.
a. y=sin(x3)
b. y=sin3x (which can also be written ( sin x)3)
¢. y=sin3(x3)
d. f(x)=cos (83 +Vx) sin 2 (5x)
e. g(x)=cos(sin4(7x3))

f. y= csc3(5x) -
Cos 2 (3x)

2. Find an equation of the line tangent to the graph of y = sin 2x
at x = n/6. cos 3x + tan x

3. Find the slope of the line perpendicular to the graph of y = sin ( w3 tan 2x)
at x = /8.

4. Solve £’(x) =0 for x, where 0 <x < 2n.

a. f(x)=(1/2) sin 2x + sin x b, Ax)=cos2x +sinx
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L) a.) Yl: coa (x3) - 3x*
b.) Y= 3 2n®X . cenx
C~) Y'= 3 on® (X3)- cra(x3) - 3x*
d) T K)z ot (3+1%)- 24 (5%)- coa (5%)- 5
+ 2 (347%)- $XR . am®(5%)
e.) §x)= —am (4 (7x%)- 4400 (7%%) . coa (753 - 21 *

+) Vs et X(3x) - 300cX(5%) "ot (SX)e(5K)- 5 cad(5%)- 2 eaa(3X)2m(3X)- 3

coa? (3x%)

2) N = Hron ANK
cod 3X + KomX

(M3><+7’G~\><) 2 € IX— prndX: (3m3x+,u~c, x)

..—)Y
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|
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3) Yz a(F Femax) —

L T .IX Lax. =1
X'z cor (T Remax) T osax- 2 , oX X=3

\{\:MCI E).lg"-m&’“3~2
:.zﬂ-m(g)@f—) 43.51.:'}\_?1‘_' s
MOZMJ- 4 W= 'f;r .
4) a) ¥z Lenax s inx —=
)z L L eweaax + conX z(Reea®™X—1 )+ coa X =0 —»
(Reeex — 1) (ceax+1)= 0
u:ix:w Ced XT = —>» X=-T

b) Fx)= coaTX + N X —s

ST6.) N= o’ (7“‘5»2(3"])
Y'= 3 (Fon? (3x)- o (Ran(3) 2hon (3%) - axe*(3%) - 3




